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Market Economy

o We call our system a market economy because it's made
up of huge numbers of markets like this one.

o Resources are allocated through the decisions of millions of
firms and millions of households.

-- Firms decide what to make and who to hire.

-- Individuals decide who to work for and how to spend their
iIncome.

-- Everyone interacts in the market place.



Market economics are
deceniralized

o After all, market economies are decentralized. There are
thousands of buyers and thousands of sellers in many
markets.

o Why doesn’t this decentralized economy generate
complete chaos?

o |s Market a good place to allocate resourcese



Adam smith (1723-1790)

o Adam Smith said that the markets in fact work very well.

o He said that they are guided as if by an invisible hand and leads
to desirable allocation of resources.

o How does the invisible hand work its magic?
o How does it lead market to desirable outcome?
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Market and Market Structure
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There are many consumers and producers, and no
one individual can change the market price with
his/her behavior.

Example: If a farmer decides to rotate crops and grow
corn this year rather than soylbeans, this choice does
not cause price fluctuations throughout the world.



%=4-—: Sellers in the market produce identfical goods

An individual seller can’t influence the market price

by selling a unique product.

TR IR AR — 1% » 7 FEEIRI TR PIERE
s -

(Pl R — 1% - BRI 515 e A —E )

A TS EBREE) - LR RER G R B FHEEE A
HHSG AR ERS EE B 75 B JE b




&:14-3: There is free entry and exit in the market

Sellers can respond to potential profits in a market by
entering, or by leaving markets that are no longer
profitable—both of which have implications on market

price.

Example: If many firms leave a market, the supply
curve will shift (that's one of the determinants) and

market price will increase.
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Reservation value is the price at which a frading partner is indifferent
between making the frade and not doing so.

Buyer ' Reservation Value (%)
Madeline /0
Katie 60
Sean S50
Dave 40
lan 30
Kim 20
Ty 10

Seller
Tom
Mary
Jeff
Phil
Adam
Matt

Fiona

Reservation Value ($)
10
20
30
40
50
60
/0
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Price $80

Fiona

Supply
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-- Social Surplus
-- Pareto Efficient



Social Surplus In the competitive equilibrium

Social surplus is the sum of consumer surplus (JE&E & TER)
and producer surplus (4 zZE & FIER)

Consumer surplus: The difference between the price the
consumer would be willing to pay and the market price

Producer surplus: The difference between the price the
seller would be willing to accept and the market price.
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CS= (70-40)+(60-40)+(50-40)=60
PS =(40-10)+(40-20)+(40-30)=60

Social Surplus =120

Price $80 -
70 p—
60 -
50
40
30
20
10

Sean

0 2 3 4 5 6 7 8
Quantity
(a)

orice sg0. | EQUIlibrium

Market in

70 —
60 | l

50 |
40 |
30 |

20
10

0 1 2 3 4 5 6 7 8
Quantity
(b)

Price $80 -

70

60 |
50 |
40 |
30 |
20 |

10

0

Restrict Quantity

Lose this area

We cannot improve the

outcome by forcing the price
or the quantity higher or lower.

Adam
f-i—Loss
1 2 3 4 5 6 7 8
Quantity

(c)

Force Adam to sell
at price $30 (his
WTA $50)

Lose this area




Efficiency

The competitive market equilibrium is efficient in the sense that
all mutually advantageous trades take place: no more, no less.

The competitive market equilibrium maximizes social surplus.

This is the best that society as a whole can do if it is simply
interested in maximizing the total size of the economic pie.



Pareto Efficiency

o Vilfredo Pareto; 1848-1923.
o A Pareto outcome allows no “wasted welfare™:;

o [.e. the only way one person’s welfare can be improved is to
lower another person’s welfare.

o A Pareto improvement is an improvement to a system when a
change in allocation of goods harms no one and benefits at least
one person.

o JHYAFINERE L E 2Rk Pareto improvement : Pareto
Efficient
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»What causes what in economic systemse

» At what level of detail shall we model an economic phenomenon@

»Which variables are determined outside the model (¥p4E457E) and
which are to be determined by the model (R4:)2
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o Assumptions:
o apartments are close or distant
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Modeling the Apartment Market

»Questions:
-- Who will rent close apartmentse

-- At what price?
-- Will the allocation of apartments be desirable in any sense?

How can we construct an insightful model to answer these questionse

22
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o Two basic principles:

o Rational Choice(The optimization principle): Each person
tries to choose the best alternative available to him or
her.

o Equilibrium: Market price adjusts until quantity
demanded equals quantity supplied.

23



Modeling Apartment Demand

cDemand:
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Modeling Apartment Demand

oThe lower is the rental rate p, the larger is
the quantity of close apartments
demanded
o4y =QPT.

o The quantity demanded vs. price graph is
the market demand curve for close
apartrments.
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Market Demand Curve for
Aﬁp\ar’rmen’rs




Modeling Apartment Supply

o Supply:

It takes time to build more close apartments so in
this short-run the quantity available is fixed (at say
100).

27



Market Supply Curve for
Apariments

100 Q®
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o “low” rental price = quantity demanded of close
apartments exceeds quantity available = price
will rise.

o “*high” rental price = quantity demanded less
than quantity available = price will fall.

o Quantity demanded = quantity available
= price will neither rise nor fall

so the market is at a competitive equilibrium.

29
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People willing to pay pe for

_—close apartments get close

apartments.
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People willing to pay pe for

_—close apartments get close

apartments.

People not willing to pay
pe for close apartments
get distant apartments.
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o Q: Who rents the close apartments?

o A: Those most willing to pay.
o Q: Who rents the distant apartments?
o A: Those least willing to pay.

So the competitive market allocation is allocated by
“willingness-to-pay”.
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o What is exogenous in the model?
o price of distant apartments
o quantity of close apartments
o [Incomes of potential renters.

o What happens if these exogenous variables
change?¢
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o Suppose the price of distant apartment rises.

o Demand for close apartments increases (rightward shift), causing

o a higher price for close apartments.
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Market Equilibbrium

A




Market Equilibbrium

A

Higher demand

100 QP.Q°
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Market Equilibbrium

pe

A

\

Higher demand causes higher
market price; same quantity
traded.

’ QP
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o Suppose there were more close apartments.

o Supply is greater, so
o the price for close apartments falls.
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Market Equilibbrium

A




Market Equilibbrium

A

Higher supply




Market Equilibbrium

| Higher supply causes a

lower market price and @
larger quantity fraded.
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o Suppose potential renters’ incomes rise, increasing their
willingness-to-pay for close apartments.

o Demand rises (upward shift), causing

o higher price for close apartments.
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Market Equilibbrium

A




Market Equilibbrium

pe

A

\

Higher incomes cause
higher willingness-to-pay
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Market Equilibri

A

Uim

Higher incomes cause
higher willingness-to-pay,
higher market price, and

the same quantity fraded.
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o Local government taxes apartment owners.

o What happens to
o price
o quantity of close apartments rented?

o |s any of the tax “passed” to renters?
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Taxation Policy Analysis

o Market supply curve is almost the same.
o Market demand curve is unaffected.
o SO the competitive market equilibrium is unaffected by the tax.

o Price and the quantity of close apartments rented are not
changed.

o Landlords pay all of the tax.

48



4 hE

—~

o Market structure — identifies how a market
IS made up in terms of:
o The number of firms in the industry
o The nature of the product produced
o The degree of monopoly power each firm has
o The extent of barriers to entry



Market Structure

Perfect Pure
Competition Monopoly

—

More competitive (fewer imperfections)



Market Structure

Perfect Pure
Competition Monopoly

—

Less competitive (greater degree
of imperfection)



Market Structure

Pure

Perfect Wil

Competition

OllgOpOly Duopoly| [Monopoly

—

The further right on the scale, the greater the degree
of monopoly power exercised by the firm.



=415 (Pure Monopoly)
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= 8% (5 (Natural Monopoly)
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(a) A Competitive Firm’s Demand Curve (b) AMonopolist’'s Demand Curve

Price Price

Demand

Demand

0 Quantity of output 0 Quantity of output



How Should a Monopoly Pricee
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15 -- Monopoly

Low price, high quantity
demanded, low revenue.
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Monopolistic Market
Eg UIlIbrIU m High price, low quantity

demanded, low revenue.
High
price

Y



Monopolistic Market

Eguilibrium

Middle
price

Middle price, medium quantity
demanded, larger revenue.
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Monopolistic Market

Egquilibrium

Middle
price

Middle price, medium quantity
demanded, larger revenue.
Monopolist does not rent all the
close apartments.

\

100 QP.Q°
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Monopolistic Market
Eguilibrium

Middle
price

Middle price, medium quantity
demanded, larger revenue.
Monopolist does not rent all the
close apartments.

Vacant close apartments.

\

100

’ QP
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Perfectly Discriminatory
Monopolistic Landlord

o Imagine the monopolist knew everyone's willingness-to-pay.
o Charge $500 to the most willing-to-pay,
o charge $490 to the 2nd most willing-to-pay, etc.

77



Discriminatory
Market Equilio
P, =$500

P, =$490
05 =$475

Monopolistic
rnum

Discriminatory monopolist
charges the competitive market
price to the last renter, and
rents the competitive quantity
of close apartments.

\

123 100

><QD£Q5
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Which Market Outcomes Are Desiroblea

o Which is better?
o Perfect competition
o Monopoly
o Discriminatory monopoly
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Pareto Efficiency

o Vilfredo Pareto; 1848-1923.
o A Pareto outcome allows no “wasted welfare™:;

o [.e. the only way one person’s welfare can be improved is to
lower another person’s welfare.

o A Pareto improvement is an improvement to a system when a
change in allocation of goods harms no one and benefits at least
one person.

o JHYAFINERE L E 2Rk Pareto improvement : Pareto
Efficient
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Pareto Efficiency

o Jill has an apartment; Jack does not.

o Jill values the apartment at $200; Jack would pay $400 for it.

o Jill could sublet the apartment to Jack for $300.

o Both gain, so it was Pareto inefficient for Jill to have the apartment.



Pareto Etficiency

o A Pareto inefficient outcome means there remain unrealized
mutual gains-to-trade.

o Any market outcome that achieves all possible gains-to-tfrade
must be Pareto efficient.

82



Pareto Efficiency

o Competitive equilibrium:
o all close apartment renters value them at the market price pe or more
o all others value close apartments at less than p®
o 50 no mutually beneficial frades remain
o 50 the outcome is Pareto efficient.
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Pareto Efficiency

o Discriminatory Monopoly:

o assignment of apartments is the same as with the perfectly competitive
market

o 5o the discriminatory monopoly outcome is also Pareto efficient.
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Pareto Efficiency

o Monopoly:
o not all apartments are occupied

o so a distant apartment renter could be assigned a close apartment
and have higher welfare without lowering anybody else’s welfare.

o s0 the monopoly outcome is Pareto inefficient.
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Pareto Efficiency

o Rent Control:

o some close apartments are assigned to renters valuing them at below the
competitive price p®

o some renfers valuing a close apartment above p® don't get close
apartments

o Pareto inefficient outcome.
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Market Structure

Pure

Perfect Wil

Competition

OllgOpOly Duopoly| [Monopoly

—

The further right on the scale, the greater the degree
of monopoly power exercised by the firm.



Market Structure

Characteristics: Look at these everyday products - what type of
market structure are the producers of these products operating
in? -
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